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O O000 0000 Thisargument concludes/recommends/argues
thatl] [J O O O To support this conclusion the writer cites

L1 /points out thatl] [0 [J OO O However, this argument suffers from
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IS that, the editorial observes a correlation betweenl] and [, then
concludes that the former is the cause of the latter. However, the
editorial fails to rule out other possible explanations forJ For
example,[1 Any of these factors, or other social, political or
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factorsitisunfairtoconcludethatl OO O OO OO0 OO0 O
J0odoboooooodoooooooooooooa
J0o0doo0oooodoooooooooooooa
OO0O00000OArgumentd 0000000000 0OO0OOO
[ O Inthe final analysis, the letters author fails to adequately
support the recommendation that[] To bolster the argument, the
arguer must provide detailed demographic/statistical evidence
showing that[] The author must also provide evidence--perhaps by
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